
Parts Diagram

Warning: This drawing format requires special non-standard fonts!!
Make sure the appropriate font files are installed!!!

TT Humanst 521 BT (page heading)
TT Humanst 521 BT Light (drawing title)

O HelveticaLTStd-Cond (table column headings)
O HelveticaLTStd-LightCond (table text and call-outs)

Item Part Number Item Description Qty
1 1 
2 1
3 1
4 1
5 1
6 1
7 1
8 1
9 1
10 1
11 1
12 1
13 1
14 1
15 1
16 1
17 1

 Tablet ArmTMChangeUp

 Seating®Strive

Janaury 2023
 

©2023 Krueger International, Inc.  All Rights Reserved · KI-PD-000112 · Rev. 2 · Page 1 of 1

KI · 1330 Bellevue Street · P.O. Box 8100 · Green Bay, WI 54308-8100 · 1-800-424-2432 · www.ki.com

Item Part Number Item Description Req Qty Item Part Number Item Description Req Qty
1 CUTA.MECH.RH   Assembly, ChangeUp Tablet RH (shown)  1  12 47.1095.X Sleeve, ChangeUp Tablet Arm Armrest 1

CUTA.MECH.LH  Assembly, ChangeUp Tablet LH 1 13 12.9131.X  Screw, #10 X 2-1/2" PPH T-AB Tapping 1
2 TARM Board, RH ChangeUp Tablet Arm (shown) 1 14 12.0553.X Screw, #10 X 1-1/4" PPH TYPE AB 1

TARM Board, LH ChangeUp Tablet Arm 1 15 SRFP Replacement 4-Leg Glide Chair Frame, Poly 1
3 47.1080.R.BL.X  Assembly, Tablet Hinge RH (shown) 1 SRFU Replacement 4-Leg Glide Chair Frame, Upholstered Seat 1

47.1080.L.BL.X Assembly, Tablet Hinge LH 1 SRFB Replacement 4-Leg Glide Chair Frame, Upholstered Seat & Back 1
4 12.5042.X Screw, #12 X 3/4" 6-LOBE T25 FL HD TAP 12 16 SRFP Replacement 4-Leg Caster Chair Frame, Poly 1
5 47.1098.R.X  Spring, RH ChangeUp Tablet Arm (shown) 1 SRFU Replacement 4-Leg Caster Chair Frame, Upholstered Seat  1

47.1098.L.X Spring, LH ChangeUp Tablet Arm 1 SRFB Replacement 4-Leg Caster Chair Frame, Upholstered Seat & Back 1
6 47.1089.BL.X Sleeve, ChangeUp Tablet Arm Rotation 2 17 SRFP  Replacement Sled Base Chair Frame, Poly 1
7 47.1096.X Dowel Pin, 5/16 X 1-3/4" 2 SRFU Replacement Sled Base Chair Frame, Upholstered Seat 1
8 47.1101.X Strip, Pin Wear 2 SRFB Replacement Sled Base Chair Frame, Upholstered Seat & Back  1
9 12.0241.BL.X Screw, 1/4-20 X 3/4" Socket BHCS w/ Patch 2  18 SRFP Replacement Task Chair Frame, Poly 1

10 CUTA.ARM.XX Assembly, Armrest  1 SRFU Replacement Task Chair Frame, Upholstered Seat 1
 11 STV.CUTA.XX.X Assembly, Armrest Cap and Mount 1 SRFB Replacement Task Chair Frame, Upholstered Seat & Back 1

Item 1

Item 15 - 4-Leg Glide Chair Frame
(see KI-PD-000013 for additional parts)

Item 16 - 4-Leg Caster Chair Frame
(see KI-PD-000013 for additional parts)

Item 17 - Sled Base Chair  Frame
(see KI-PD-000032 for additional parts)

Item 18 - Task Chair Frame
(see KI-PD-000026 for additional parts)

.XX = Select Color
Item 1 includes items 3, 4, 5, 6, 7, 8 & 9.
Item 10 includes items 11, 12, 13 & 14.

Item 10

2

3

4
5 6

7 8

9

11

12

13

14


	Sheet 1
	Views
	new_view_2



